Velocity, acceleration, and force in rocket demo
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Kinetic energy & Work Energy Theorem in rocket demo
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Newton’s force reaction force {3™) Law &

: i ______ _: momentum conservation in rocket demo
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A+B system: no external forces — momentum conservation
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Conservation of momentum in rocket demo final momentmn

(M+m)=1145 Kg initial mu'neﬂn__thl:_nﬂ p= p{-
! el 0=+MV
-m v
myv=

e 113Kg5m

f 1:5.:.;5 QOJ% . N 15Kg s
M=113 “:;mi VZTSEI
furcozgsas

m=1.5 Kg= mass fank afier-before={16.5-15) Kg

1-17



BaPT POOT ATOA B JOU JNQ SYIOM SOTSAUd "¢ g

A &

\Q\Ih.wh. .—.ﬂ.r._ ._._.._...Im..h._ “_i_n_.__h

-.__.qu_u____.q.m

l\.whﬂ._____..ﬂ. ﬁ;&...m.. |I\mw ﬁ-tﬂl\?ﬂﬁﬂ:w \\Hﬁ._ t...ﬂ-.lr

owap Jo3o0I 10] durer-dojs Jo usisop
UOTSIDAUOD AZIoUD [enuajod o onoury




Division of energy & momentum in rocket demo
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in radicactive decay
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